% 103FER
Bod SEEE FREFL S RE
BE LR )8

HoBh (£4p3)
AXLEH
1, 233 E L E LEg > 5834 0 B4 2 21 & o

2. LEPER 11 P
3R P E ML FHFEEE AW o

4oHFEEBDLERWR -

1L #1555 f(x)=x*—5x>+3x* +19x—30 < 0 hx & ] 5 (-) o

2. e a~b-~c~d i E#KE &Llogab:g ’ Iogcd:% o % a-c=9 > f

b+d= (=) °

3. & Lm+(m+1)+ M+2)+ +1f —1)A A (50<m<n<300) it & # e ¥
(m, n) = (=) o

<¥& &7 FE>



4, TG FETMEAB=16 o #T 5 + gk P o 2 a(P) £ 7 AABP 6 % 0 b(P) %

|

% AABP % £ > % & a(P) e{100,110,120} ¥ b(P) =502 P £ 4 _ (z) 1 o

5. ¢ 9B r#1,1,357,9922,x? EZLFN 4G frencFHY ES % ’

P X2 B A Ed o

6. HiEL G UEE X 3B I(X)TARS X P bt chlic f 5=~ ey e ¥ =2+
Boo R Ew % o Lo A o B4 £({8,6,10,12,1) =12-10+6-3+1=6 -
£ 3 EU={123..,1038} - plU ehef 2252 3 & X eh f(X) 2 wenfri () -

7. ¥ enD FHn > T
S(nN)=1+11+---+11..1 (&% -3 3 niE 1)

n

vl S =1 S(2)=1+11=12
i 7 S(n) £ 45 3 Hcend ) & Fign=_ (=) -



